Genetics Problems III
Name ________________________________
S-W-1895
Hr. _________

1.
Suppose the following were true of hogs: red color dominant over white, straight hair dominant over curly. Show a cross between a purebred red, straight-haired pig (RRSS) mated with a curly-haired, white pig (rrss)

	Parents:
	
	RS
	RS
	RS
	RS

	Genotype 
_________________   
________________


	rs
	
	
	
	

	Phenotype
_________________
________________


	rs
	
	
	
	

	Gametes
_________________
________________


	rs
	
	
	
	

	
	rs
	
	
	
	


Describe the offspring:
2.
Show the possible combinations of genes if you crossed 2 red, straight-haired hogs that are heterozygous for both traits (RrSs ( RrSs).

	Parents:
	
	RS
	Rs
	rS
	rs

	Genotype 
_________________   
________________


	RS
	
	
	
	

	Phenotype
_________________
________________


	
	
	
	
	

	Gametes
_________________
________________


	
	
	
	
	

	Offspring:
	
	
	
	
	



red, straight haired   ________________
white, straight-haired   ___________________

red, curly-haired      ________________
white, curly-haired       ____________________

3.
In pea plants, tall (T) is dominant over short (t). Green pods (G) are dominant over yellow pods (g). Show a cross between a tall plant with green pods that is homozygous for both traits (TTGG) and a short plant with yellow pods.

	Parents:
	
	TG
	
	
	

	Genotype 
_________________   
________________


	
	
	
	
	

	Phenotype
_________________
________________


	
	
	
	
	

	Gametes
_________________
________________


	
	
	
	
	

	Offspring:
	
	
	
	
	



Tall, green       ________________
Short, green   ________________


Tall, yellow      ________________
Short, yellow   ________________

4.
Show a cross between a short plant with yellow pods (ttgg) and a tall, green-podded plant that is heterozygous for both traits.
	Parents:
	
	
	
	
	

	Genotype 
_________________   
________________


	
	
	
	
	

	Phenotype
_________________
________________


	
	
	
	
	

	Gametes
_________________
________________


	
	
	
	
	

	Offspring:
	
	
	
	
	



Tall, green       ________________
Short, green   ________________


Tall, yellow      ________________
Short, yellow   ________________

5.
In people, brown eyes dominate over blue eyes. The ability to roll the tongue is dominant over the inability to roll. Show a cross between a purebred brown-eyed non-roller and a brown-eyed roller who is heterozygous for both traits.

	Parents:

	Genotype 
_________________   
________________



	Phenotype
_________________
________________



	Gametes
_________________
________________



	Describe the offspring:


6.
Cross a brown-eyed tongue roller who is homozygous for both traits with a blue-eyed non roller (bbrr).


Parents:


Describe the offspring:

